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‘Explain the steps adopted to solve the given truss in Fig.Q7(b), by method of joints.
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m..m.Oﬁov . wFig.Q5(b)
Derive an oannwm,mm@,wmpn aright angled triangle from first principles? (10 Marks)
Find the centroid of shaded area shown in Fig.Q5(b). (10 Marks)
State and prove parallel axis theorem? (08 Marks)
Find Iy and Iy, through centroid shown in Fig.Q6(b) with uniform thickness of 30 mm
throughout. (12 Marks)
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Damm.m perfect, deficient and redundant truss. (08 Marks)

.12 Marks)

Write short notes on any four:

State and prove Varignon’s theorem

Define resolution of force system

Define coefficient of friction and angle of repose

Explain method of section in analysis of truss

Explain polar moment of inertia. (20 Marks)
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